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O 4m = 400cm

@ 70000 cm2 — 7 m?
® 12m?2 = 12000 cm?

@ 480000 cm? = 48 m?
® 630000 cm2 — 63 m2



o

R
ol
N

[a\B K]

AulliN=

— <t

©



5. H= =99 "ot 142em® € W, @2 OEH % em 7} H 1A
TOFA L.

6cm
\

""@7 [s5em
\,®_/




G2 e o, hrelgol A4 2t
25T ZOAQ

214 A
AL BHAS
R T =2

o] Ak
=

Tx

T
< <F
TH <
o ol

T

808
625

®

111
450

@

17
60

©)

19
40

@

9
16

D 2



R

£ 127]9] 250] Ho] o] go
) oA,

59 59
2y 129
Vg i
2y 427x
@ 3--ke © 4-"ke

] o
B2 3gkg A 5ol Qe drtE &



%

Hr} 200

3
7

W47t 712 Ee

8.

=

| Etsyh B34t A

2o

45 Y 1040
IR

o

™ o

zol

o
ol
H
fup!
%

)|

ik



m_.oao

alo
FAU7E?

S
)

=

-

09l 37
7]




10. oJH $£E42 Yolk, 622 Lo, 82 Yol B 1|7}
30|, of® &= FollA 100001 7 717k 5 FSIA L.

e =
c



